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Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10
-1 ATS s Tea wis 3
a)  What are the different kinds of chala?
25| OLTE G FI 2
b)  What is the necessity of the avayava Nigaman?
[GRECISERICERCLEIRIS KK
c¢)  What is Samsthiti?
A e et e
d) Whatis Nyaya Prakarana?
RIEAFL FICF =T 2
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e)  Why the prasanga is the hypothetical argument?
2T (e LRI Y 2

f)  Write the definition of jati.
Gifesq el =19 |

g)  What is meant by bisayparisodhaka tarka?
o1 SAfeNEs ©F I =T 2

h)  Write the difference between jalpa and vitanda .
&3l ¢ o e Al =12 |

2. Answer any two questions: 5x2=10

@-CHIe 7o 2eas Ted wie

a)  Explain Sarvatantra Samsthiti Siddhanta.
oy HEfe Frale i 4|

b)  What issues arise from Nagarjuna's prasanga
argument method?
qareiR @7 Y& efielt (A I F [ Tifore
237

c) Explain, with example, different kinds of
savyabhicara hetvabhasa.
e el FTeni @eren q2esg il S |

d)  Discuss about Pancharupa of hetu.
(RPT 2R SO 4 |
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3. Answer any two questions: 10%x2=20

@I BB 2Aeea Ted 7l ¢

a)

b)

d)
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Explain sadharmmya hetu with an example.

VBIETR AL (Z9 W T |

Write about pratitantra siddhanta and adhikaran
siddhanta .

dfceg Frae 8 wfgeae Prae 7 @2 |

Explain the different kinds of tarka with an

example.

o o ©F 13T I SE 4 |

Mention the paksa, sadhya and hetu of each of
the following inference and explain why the hetu

is fallacious:

fferie SeEimaler o5, T 93R (@Y SE T
G (@0 (& (I 1% ©f Iy 59 :

1)  Food is injurious, because it is a source

of nourishment.
vy Sl Be, Fiel Tl SR T 2eyiin |

11)) The house is eternal, because it is

indestructible.

5J2 Tomre=, el @fb S |
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iii)

A cow has horn, because it is an animal.
aRER IS N, (el o 2l |
A dyad is eternal, because it has a cause.
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